2.9.19

Logaritmické rovnice |

Vyftes rovnicilog, x = 3.

Napi$ nasledujiatisla jako logaritmy p uvedeném zékladu:

a) 3{log,} b) 2{log,} c) -1{log, s} d) 0,5{ log,}
e) 0{log,} f) V2 {log,}

Vytes rovnice:

a) log, (x-2)= 4 b) log, (2x+1) = 2 ¢) log,s(2-x)=-2
d) 3log, (X+1)= 6 e)log, (1+x)=-1

f) log,,log,x=-4 (jinak zapsandog, (log,x) = -4)

Vytes rovnice:

a) log, (x* +x) = log, (~2x) b) log, (¥ - X) = log, (3- %)
c) 2logx = log(x + 6)

Vyres rovnice:
a) Inlog, log, ;x =0 (jinak In (Iogz[logO,5 x]) =0)

1
b) log, | 2log,| 1+ log3 2= log . Xt || ==
) logy (2log,[ 1+ log{ 2~ log %} ]) =2
Petakova:
strana 35, c¥ieni 9 b), ¢), e), f), g), h)
strana 35, cweni 10 c), d)



